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2 Dimensional model

GDP of industry in the based year=B2

GDP of industry in the year t=B3

Energy consumption in the based year=C2

Energy consumption in the year t=C3
D2=C2/B2

GDPeffect=E2=(D2*(B3-B2)+(D3-D2)*(B3-B2)/2)

Ieffect=F2=(B2*(D3-D2)+(D3-D2)*(B3-B2)/2)

Real change=G2=E2+F2

Energy saving=H2=-F2

Real in the base year=K2=C2

Real in the year t=K3=C2+G2

Trend in the based year=1.2=C2

Trend in the year t=L.3=C2+E2
3 Dimensional model

Energy consumption in the based year=B2
Energy consumption in the year t=B3
GDP of sector in the based year=C2

GDP of sector in the year t=C3

GDP of industry in the based year=D2
GDP of industry in the year t=D3



E2=B2/C2

F2=C2/D2

G2=E3-E2

H2=F3-F2

12=D3-D2
Teffect=J3=D2*F2*G2+G2*(F2*12+D2*H2)/2+12*G2*H2/3

Seffect=K3=D2*E2*H2+H2*(E2*12+D2*(G2)/2-+I2*G2*H2/3
GDPeffect=L3=12*E2*F2+12*(E2*H2+F2*G2)/2+I2*G2*H2/3

Real change=M3=J3+K3+L3
Energy saving=N3=-(J3+K3)
Real 2530=P2=B2

Real 2531=P3=B2+M3
Trend 2530=Q2=B2

Trend 2531=Q3=B2+L3

2 Dimensional sensitivity analyses

Energy consumption in the year t=A2
Energy consumption in the based year=C2
GDP of industry in the year t=B2
GDP of industry in the based year=D2
A2=100/100*A2
B2=100/100*B2
E2=A3-A2
F2=B3-B2
Influence of E'=H2=-(D2/(2*B2)+1/2)*E2
Influence of GDP'=I12=-(-D2*A2/(2*B2/2)-C2/(2*D2))*F2
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Total change of energy saving (d\/)=J2=H2+I12

3 Dimensional sensitivity analyses (mining sector)

Energy consumption in mining sector in the based year =B2
Energy consumption in mining sector in the year t =B12
GDP of industry in the based year=D2
GDP of mining sector in the based year=C2
GDP of mining sector in the year t=C8
GDP of construction sector in the year t=C9
GDP of manufacturing sector in the year t=C10
Based value of 7, =J5
Based value of §;,,,=K5
Based value of energy saving=03

B2=100/100*B12

C3=100/100*C4

C4=100/100*C8

C5=100/100*C9

C6=100/100*C10

C13=C4-C8

C14=C5-C9

C15=C6-C10

C16=B3-B12

C17=J3-J5

C18=K3-K5

D3=C4+C5+C6

E2=B2/C2*1000

102



103

E3=B3/C3*1000

Influence of E| =E5
E5=-((D2/(3*(C8+C9+C10))-
C2*(C8+C9+C10)/(6*C8*D2)+C2/(6*C8)+2/3))*C16

Influence of Q; =E6
E6=-(-
B12*D2/(3*(C8+C9+C10)*(C8+C9+C10)H+B12*C2*(CI+C10)/(6*D2*C8*C
8)-B2/(3*D2)-B12*C2/(6*C8*C8)-
B2/6*C2)+B2*D2*(C9+C10)/(6*C2*(C8+CI+C10)*(C8+C9+C10)))*Cl13

Influence of Q;=E7
E7=-(-B12*D2/(3*(C8+C9+C10)*(C8+C9+C10))-B12*C2/(6*C8*D2)-
B2/(3*D2)-B2*C8*D2/(6*C2*(C8+C9+C10)*(C8+C9+C10)))*C14

Influence of Q; =E8
E8=-(-B12*D2/(3*(C8+C9+C10)*(C8+C9+C10))-B12*C2/(6*C8*D2)-
B2/(3*D2)-B2*C8*D2/(6*C2*(C8+C9+C10)*(C8+C9+C10)))*C15

Total estimation=E9=SUM(E5:ER)

Real value=E10=N3-03

Influence of E{ in dS,g,, =E14
E14=-((D2/(6*(C8+C9+C10))+1/3-C2/(6*C8)-
C2*(C8+C9+C10)/(3*D2*C8))*C16)

Influence of O in dS g, =E15
E15=-((D2*B2*(C9+C10)/(3*C2*(C8+C9+C10)*(C8+C9+C10))-
D2*B12/(6*(C8+C9+C10)*(C8+C9+C10)+B2/(6*C2)+C2*B12/6*C8*C8)-
B2/(6*D2)+C2*B12*(Co+C10)/(3*D2*C8*C8))*C13)

Influence of Q, in dS,,,=E16
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E16=-((-C8*D2*B2/(3*C2*(C8+C9+C10)*(C8+C9+C10))-
D2*B12/(6*(C8+C9+C10)*(C8+C9+C10))-B2/(6*D2)-
C2*B12/(3*D2*C8))*C14)

Influence of Q; in dS,,,=E17
E17=-((-C8*D2*B2/(3*C2*(C8+C9+C10)*(C8+C9+C10))-
D2#*B12/(6*(C8+C9+C10)*(C8+C9+C10))-B2/(6*D2)-
C2*B12/(3*D2*C8))*C15)

Total estimation in S, ,=E18= SUM(E14:E17)

Real value in S, ,=C18
F2=C2/D2
F3=C3/D3

Influence of E in dI g, =F5
F5=-
((C2/(3*CRFD2/(6*(C8+CI+C10))+C2*(C8+Co+C10)/(6*D2*C8)+1/3)*C16
)

Influence of O/ in dI g, =F6
F6=-((-C2*B12/(3*C8*C8)-D2*B12/(6*(C8+C9+C10)*(C8+C9+C10))-
D2*B2*(C9+C10)/(6*C2*(C8+C9+C10)*(C8+C9+C10))-
C2*B12*(C9+C10)/(6*D2*C8*C8)-B2/(6*D2)-B2/(3*C2))*C13)

Influence of Q] in df 4, =F7
F7=-((-
D2*B12/(6*(C8+C9+C10)*(C8+C9+C10)+D2*C8*B2/(6*C2*(C8+C9+C10)
*(C8+C9+C10))+C2*B12/(6*D2*C8)-B2/(6*D2))*C14)

Influence of Q; in dI ,, , =F8
F8=-((-
D2*B12/(6*(C8+C9+C10)*(C8+C9+C10))+D2*C8*B2/(6*C2*(C8+C9+C10)
*(C8+C9+C10)+C2*B12/(6*D2*C8)-B2/(6*D2))*C15) |
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Total estimation in /g, ,=F9= SUM(F5:F8)

Real valuein § . =F10=C17

effect
G2=E3-E2
H2=F3-F2
12=D3-D2
J3=(G2*F2*D2+G2*(H2*D2+F2*12)/2+G2*H2*12/3)/1000*100/100
K3=(E2*H2*D2+H2*(G2*D2+E2*12)/2+G2*H2*12/3)/1000*100/100
L3=(E2*F2*12+12*(G2*F2+E2*H2)/2+G2*H2*12/3)/1000
M3=SUM(J3:L3)

N3=-SUM(J3:K3)



